EARAROBEEIERT — 2 N— IBISH —F

201756H 138 (K) 6EI£IR4H

Il S>%—# C13 (w8 | mEmml - |5 5) w8
[AE£] 1% :220,000” ~ 23#%&:50,000"  33%&:26,000H  437%&:19,000H .~ 57 :13,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. EFREA . -0 — nEEFE (&R
el 7 | ~osezna 7 | 2R 1.(2_6).7 2-2-2-1 | 40.3 1 :1:320) ﬂmﬁi (&R
LA xNTT B:FFI 07— I1LEF 45
= S = BREBA M) 126. —4-3- . - HiEg—th (£R)
5 4| FIIR=F - it 4 e 1(72?‘:? 5-4-3-3 | 40.3 2 (4+260) it
LR TRALE N BRI/ TUT 4 — RO 28]
-5 4 4 | REXA 1:26.8 1-1-1-1 | 40.5| — 6 434 | BERRE (£R)
3 3|=H4T #¢53.0 (74%) (+20) E(I?I) J P N#H
LT RYAYF -5 B85/ N—FE=— BRIRANS
3 4 g | REE 1:27.0 3-4-5-4 | 40.3| — 5 484 | DIEERIR (£IR)
41|17z Ak— %.0 (11/2) e |EANIE=
R:vPNyBhT1 BECILTINT [Ev e ]
o N . > EMESH 7. -3-3- . — SARED (2R
N PR v TS B - I IR & | faea
RiAL Y anK—F— BEIRNITIZY ZREZN)—TF—L
™ JHINN hBEEH :29. —6-7— . - SEE= (£R)
6lsls|7>TVv=s T gy | oIS L I i
R:KTA MY ZN B:FLSATT FE RS
- ST : 66— - MERE (2R
. 6| ¥4 T4 it 4 i 1.(310>.1 6-6-6-7 | 42.8 4 (4_111> E?&HI%:(
iA=L FA-X BHATAT—H K& R
@ 1 — S —EBIEf
13—7+— 3,7,1,2,4,(5,6)
23Al=77= 3,7,2,(1,4),(5,6)
30—7+— 3,7,(2,4),1,6,5
40—+ — (3,7),4,1,2,5,6
[ N3
BB 7 240M 714K 4-7 150H B = 4-7 240 3EHE 3-4-7 2,000/
8 B 7 130H4 &= 610M B H 7-4 510 K31 7-4-3 6,370
4 120/ 3-4 360

ABICOVWTRDTEEERROODE. TR LIV,




